
Differen'ability 
 
   Use the graph for the func0ons and determine the value of x for which the func0on is not differen0able. 
Pleases state why.  Ver$cal asymptote, an infinite tangent, or the func$on is not smooth (corner), Jump 
Discon$nuity. 
 
1. 𝑦 = sin(𝑥) − 2cos	(𝑥)  for 0 ≤ 𝑥 ≤ 2𝜋 
 

 
 

2. 𝑦 = 𝑥! − 3𝑥" + 4 
 

 
 



 
 
3. 𝑦 = 1 + #
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4. 𝑦 = 𝑥! "% + 5𝑥& "%  
 

 
 
 
 
 
 
 
 
 



 
 
5. 𝑦 = 𝑠𝑖𝑛&(𝑥) for 0 ≤ 𝑥 ≤ 2𝜋 
 

 
 
6.  𝑦 = 𝑥' − 4𝑥" + 10 
 

 
 
 
 
 
 
 
 
 
 
 
 



 
 

7. 𝑦 = √$
$)#

 
 

 
 
 
8.  𝑦 = 𝑥& "% + 3𝑥# "% + 2 
 

 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

9.  𝑦 = 𝑥! "# (𝑥! − 4) 
 

 
 
10. 𝑦 = 2𝑐𝑜𝑠&(𝑥) − 𝑠𝑖𝑛&(𝑥)  for −𝜋 ≤ 𝑥 ≤ 𝜋 
 

 
 
 
 
 



 
 
11.  𝑦 = $

√$!&'
 

 
 

 
 
 
12. 𝑦 = 𝑡𝑎𝑛!(𝑥)  for −𝜋 ≤ 𝑥 ≤ 𝜋 
 

 
 
 
 
 
 
 



13. Piecewise Func0on 𝑓 
 

 
 
 


